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Veresterung von Dioxybenzoesiuren. 2

N2,
c=0"6518; A =10-0957; C=231:36; a = 4°81.
Alkohol wie bei Nr. 1.

W, — 0°035.
£ a—x k ke
015 4458 L o
265 3-61 00401 0:0615
313 347 00394 00605
7:05 2:26 00389 00599
805 2:21 0-0397 00609

1847 0-91 0-0382 00586
Mittelwerte. .. 0-0391 0-0600
kber. = 0°03973;

Afy=—1t6lFe =071t

Nr. 3.
| c—0+3255; A=0°:0957; C= 15-67; a = 461;
Alkohol wie bei Nr. 1.

} ., = 0:040,
| t a—x k ke
0-45 4-57 — -

382 3:80 00219 0-0672

8+33 3-01 0-0222 0-0682
2067 1-66 0+0214 00659
2078 1-63 0:0217 0-0667
07 -45 1-23 0+0209 0-0642
4305 0+60 0°0206 0-0633
43-10 0-61 0-0204 00626

Mittelwerte... 0:0213 0-0655

kber. = 0:02157;
Py ==120;v= 0-108.




